Lesson Practice 7A Lesson Practice 7C

1. done 1 ﬁ>£soi>4
, 9,10 3. 2 " 3073077 576
15 15’ 5 3 greater than
3. done 2. 8 12 4 _2
4 18<20 soi<i 12 - 12° 6 2
30 30’ 5 6 less than
8 _9 2.3 21 _32 3 _4
> 72771203 3 565603 7
6. i>i,so 2.1 less than
15 715" 573 . 6 _09 >
27 °27°° 93
. less than
Lesson Practice 7B 18 20
5. -2 <Y
1. done Y24 24
12 15 2 5 12 12
2. —2 50 £ <2
18 <18°°° 3 % 6 4724
less than 2 10 6
3 12 9 so 2_3 20 20
Y18 18° 3 6 8. 28 30
greater than 35 35
5 _ 4 12 9. 5 . % shirley at izza.
4. 5T 5o 5> >4 > 74 irley ate more pizza
greater than 10. 36 35 The land on the east side is larger.
60 ~ 60
s 6 _6 . 1_2
18 18° 3 6
equal
10 4 2 1
& 207200 47
greater than
5 4 1 2
7 307700027
Trisha received more votes.
g 6 12 2 _2

18 18’ 6 3
Donald ran farther.
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Systematic Review 7D Systematic Review 7E Systematic Review 7F

. 6 _9 - 60 _ 60
© 78 "8 " 35 775 " 720 120
108 123 10 _21
2 7676 2 18778 2 35733
1212 108 _ 70 3 4
3. ——=—" ) 3. 2.2
48 ~ 48 3 720 7720 6 -6
12 4 _16 5.4 _9 10 3 _13
4 4t 2424 4 30*70 " 70 57573
5, 48 30 _18 5, 6 4 _ 2 5, 16 _6 _10
80 80 80 92 712 T2 24 24 " 24
14 45 _ 59 15 24 39 45 6 _ 51
6 53%%63 63 6 40 %40 " 20 6 S4*347
, 6 _12_18 24 , 1 _2_3_ 4 , 3_.6_9 _12
8 16 24 32 " 70 20 30 40 4-8 12 16
8. 6:2-3: 8. 32:8-4 4x7-28 8 10:5-2:2x3-6
3x1=3 9. 21+7-3;3x2-6 9. 12:4-3;3x1-3
9. 42:6-7; 10. 20+4-5 5x3=15 10. 24:6-4; 4x4-16
7x3=21 M. 32:6-52 1. 13:3-41
10. 24:8<3: 6 3
3x3=9 12. ]9+8=2% 12. 39+4=9%
11. done 3 4
13. 48:5-93 13. 58:9-62
12. 23:5-43 5 9
5 14. (20)x(20) = (400) 14. (60)x(50) =(3,000)
13. 59+7=8% 21x16 = 336 64x51=3,264
: 15. (30)x(30) =(900) 15. (50)x(20) =(1,000)
14. 17+4=4-yd 34x29 - 986 45x19 - 855
15. 16 _35 penndidthe most, 16 (80)x(10)=(800) 16. (80)x(40)=(3,200)
56 56 75x12 =900 82x37 3,034
16 35 5] _
EJ’ﬁ:Edone 17 L+ 8 _ 13 ofthe cars 17. 8+9+10-271t
56 5] 5 42 42 42 18. 25,24 o5 4
E—E=¥|eﬂ 18. 28+7=4 30 30 6 5
5 4x4 =16 games 19. 30+6=5
16. g of 56; 19. 8+10+8+10-36 : i
56 - +IV+0+1U= 5x5 =25 questions for Kiley
56+56=1; 1x5="5 chores %of36=9yd 30:5=6
17. 3,4 _ 7 of a cup 8 6 13 6 x 4 = 24 questions for Casey
12772 772 20, 8.6 1.3 255 24 yes
18 21 8 13 . 16 16 2 8 )
218 _13 4, 20 _24 5.3
24 24 24 20. 32<32,so 8<4
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Application and Enrichment 7G
Answer should be "READ FOR MEANING."

addition
addition
subtraction
addition
subtraction
subtraction
addition
subtraction
addition
addition
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